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UNIT 1: Absolute Value and Radicals (CH. 1)

1) Arrange from least to Greatest
a) -14-7(, |-(4-7)1, -15-(-:3)[, -141-1-7|
3 3y T B3 — 1

y 5

-3
®@ @ @ O

@) €
i Ll o B L G M I VRN )l-(%@?ﬂr\\

2) Evaluate each expression without a calculator

(3)328_7 = 3/2

362 _ 20303 - 63 (26|

(@ V& -* =\\x-“|\\
4N

absolote wvelue !
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3) Simplify each radical expression

a) —3vV48x2 + 7V75x?
—2(4x)43 + F6E)A3

= -\2A3 » 35xAT = |23

('\SN + 2
C] —— < ~
) 14—2 X C@_\, Z) — mu\hpha L‘d d\ Cgef—eﬂ& e‘g Sq va QS

\‘-\ - 2 ﬁ~l
Wy - 4
d) Vx2+4x +4—+Vx%2+12x —36

/\l (x4 D" — .!(x - &)

= Jx+2V = Ix =61 = X-2 -Xx+6 =9
= @
. _
e) 254x +-V128x —> }h%zx ~
3 4 3

2z (3 W2x + (4 x
3 Y

iﬂw r 2%

A
)

= 2%Zx + 1N2x
[: SEE;X xZ O
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4) Find the Product and Simplify:

3

@ (Vx+ 2+ 3)2 (NS )T v )
ZX+2 + o¥x2 v+ q

l:X+émzrn\ s
to%uw;‘sa
(b) (ﬂ)z e soluaton
4-:4—" 2 5 S NOT ot
L_‘*—E): U-4=) = (-Z2)0-42)

=l -282 +2

5) Determine the restriction§solve, and check solutions for extraneous roots.

Qes\-(rch‘cns
" \7_(\/ X 10-3«20 Zx +2020
a %) x - 2x 2-10 2x 2-20
10-3x = 2. +20 <& 109 o a—_
| -\0 = ZSX ‘ X =-2 ' \/O\fcu\»] Crs (k meebs reshriderons
b. CVEF2=@)" Cneb exiransous)
X+2 = i X+220

Gi—— z ~ exwom\’-OUS\\‘ X =2-2
¢ (VEF9=HT-x)* |beconcse

XZ -9 x&-) *W#Z —> nu Solotoon

X+9 = \-%

X=-Y4 > \/inoF ex brecoeous,
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UNIT 2: Rational Expressions (CH. 2) @

1) Simplify the below rational expressions and state restrictions
2x2+x-6 x3-3x%+2x
" x24+4x-5  4x2-6x
= @) (x>, X (X=2) (=)
(x +S) (x=4) 2X (2%~

= (X+2)(x-2)
2 Cxx 53 X4 -9
x?-14x+49 , 3x-21
x2-49 x+7
- D=3 (x+3)  _ L=t ?) ,E
x — = =
(e x-3) G- 3 et Y P (=)

(xzx_l) Ge=Dxx)) )\__?f_~_ = I x+\ N I‘/
C. oo pY Cxe=t) (x-1) X -1

_B
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2) Simplify and solve for x in the following equations.

1 3 4 -
+ = Cammon deqommcter s (e Dx-2)
x—2 x+3 x2+x—6

(X433 x-2)

VUXx43)(x=2) 4+ 3B3x-2)Xxr3) = 4 (x23) (x=2)

X—2
R (e =2

a)

Xt3 1+ 3(x -2\ = Y

x*3+3>“%\"'

L'{)( -3 = L‘
L{ X =3
X = 'q_/q /
° 3 - a Com d .
b) x+2  xZ+x—-2  x2+3x+2 @00 _CGenoming ta
(X +2)(x-1) (x+«2) x+1) QH'ZB()(*\)(,)(-I)

(2]

6 (kD)= = 3(x+l) = X (x-1)
C:Xl—é - 5)&—'3 - X’Z_X

é)ﬁl_q_ax: XZ‘X

SX* -2x -9 = (3

:_“lé) \ISQ)
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3. Solve the following word problems:

a) DISTANCE Problem: Ed is a runner and he runs a 8 km loop every day. The first 4 km, he

runs at 12km/hr. He runs much slower on the way home. If it takes him 1 hour in total to
run the loop, how fast is he running for the last 4 km?

(AN

o | R |k
Thee | Yim | V2kmllr .\t\{
d
A X l Ed runs
z .
! G ko lhr
Ux + 4% = 12x for the tast Ykm
4g= 3x
%= ©
b) WORK Problem: It takes Louise 2 hours to paint a room and it takes Pete 8 hours to paint
the same room. How long does it take them if they paint the room together?
L, =
_\— —
> T8

L\x—»X‘-‘-%
Sx

{
o0

AL ‘aes 8/% U‘é’)ho \NS\
Lo pCu‘(\Jr EQC&QH"Q'"//
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10
¢} The sum of a number and it’s reciprocal is ?, what is the number? @
X4+l - 10 i
X 3

3x+ 23 = 10X X=Y ond D l

Ix2-{0x +3 =0
(3x-Dx-3) =0
1. Given the following trigonometric ratios, draw a triangle, find the missing side and use this to
solve for the two missing trigonometric ratios (sin &, cos @ or tand). HINT: there should be
two answersfor each. (3 marks each)

H
E—!ﬁ‘ a) sin6’=4
Tlc >

UNIT 3: Trigonometry (CH 3)

CoSo :'13’/5 Answer:
5 S 4 cggQr-_i_%/S
R 3 3 T=Ty
3
NG
b) tanf=-——
) tan NE
a 4 Answer:
? : iz CHe =1’\E’3_
-3 G 4
Y
Qe = XA>
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S 1A l\k: Nz | 1e\2
2. Evaluate exactly (without a calculator) (1 mark each) Tlc ! “ 2
' A3
e = N
: o_ g _a5°y L
a) sin270 -S -j_! Ceo=x b) cos(—45°) # _\
v NZ
tono= ) }
Vi 03 ,
o

g

c) tan240°= |N3 ) _sinl35° ‘ \
' cos(—225"

2
-\ =
\

2

3. Findall @ for 0° <9 <360° that satisfy the given equation. There could be more than one
answer! Use the unit circle and/or special triangles! (1.5 marks each)

a) cosf@=0 b) tanf=-1
S N e
0

230

. B Ny - d) cos@=0.5
c) sm9=7 =60 5 120 J Ez (’)QO, gogof

Z/\ 3

AN ZILS
ARLE]
\ \
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4. Use the sine law to solve the following triangles. In the case where there is no triangle, write
“no solution.” In the case where there is two triangles, solve for both. (2 marks each)

a) £A4=65",a=9,b=11

Answer:
c ASS .
q <o 65 _ Sinbd N ‘ =
\ C,T - i TZ\ANG‘LC
65° ®
No TRANGLE
b) £4=105°,4B=35%,c=12cm
C = Hoo Answer:
AAS b=10.3
Z C=40°
{40 snd5 &= 1%.0
o2 8.6 = : '
12 |
A .
b=10.7F
S0 <sin 105
|2 O
C) LA=76°,a=25,b=20 ){CM% m%u?
O\SS Answer:
26 SinFe - sin B LB =50.1° |
" 25 20 £C =539°
. C = 20.
A LB: 50||0 8
5 o8 1 2% No
LB=50.°

Sin 939 = sin 76 - C=20.9
C S
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5. Determine whether or not you need to use the Sine Law or the Cosine Law to solve the
triangle. Then, solve the triangle (watch for no solution and 2 solutions!) (3marks each)

a) a=8,b=10,c="15
aSS
5 9%= 102+ 15T - 200)(Is) s A

BZ 102 - 1§ = — 300 cog A

‘Zél :.—-3OOC_QSA

) ~> )
0.9% ~—cosg/ S0 2749
LA = 26\‘5@ a

b) £LA=25",a=9b=20

ASS
o z Answer:
_'S_‘L\_?E. :-§—‘QB~ :DZB = 9.9 ° 7 ambsguous fg“_ £G.5 ¢
9 20 oR {jo,i Code. LC= 5,19
\ Al A2 C=2uL2
2" S35 _ S1a2% '{ cB8~06949° 16 £ G- 0.0 “la-0a°
< A £C=Q5.1° 40 = e g
o C = 2.‘.2 C = ‘3-0
/>z2 Sidn 4*-1,4 - S\\nls
C_ A
) a=14,b=12,ZC=35°
SY Answer:
: LA=95.6°
Q=42 +127% - 202)4) cos3S £8 =51.4°
C = 9.0%

C=9.05
LB sinB Sia 3O
\2- 2.0
LB:SC{HO

Answer:
ZA= 295°
&R =-3Q.0°
£C=|(2.5°

245

= 8B /B 3R0°

1 0

AMb\tJ vous Casg
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UNIT 4: Factoring and Quadratic Functions (Ch.5)

1. Sketch the graph of the quadratic function. Identify the vertex, axis of symmetry, and
x-intercept(s), domain, range and state the maximum or minimum value.

FxY = (x=2)Xr 1Y
X-ink@ X=-2  x=-)
G e )

.ﬁ_‘_‘\% y=2 - (o,2)

Vectex @ -5 -0.28)
; _ - & =]
O ———
T Domain © X &R

T T T Rarge: uz -l

Mo vadue - Y= - \/L‘

A, ol Symmetey - =-3
‘ JTJ - X /Z

(a) f(x)=x>+3x+2

(b) f(x) = (x+4)% -3
Vertex -, (- 4;33

y=iaf 1 y=13 (o,13)

x=iab: (-2.2%,0) (-5.%3,0)
Axis o’(\ S\!W\"Y\Q\T‘S X = - \_‘

gi“/\ V&lkkl.. j: -3

D_GLh_g_;n oo x ek
Q&Ai.@-_ Yz =5
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(c) m(x) = —%xz +3x—6

é_-in\'; (0,-6 )

x-int: (3,0) ¢ (6,0)
Nedex (%, %)

Mos Valua sy~ Iy
A&Cgo{\fbjmme{‘g: x = Uy
Domain - X e R

oy

T

SO SSUNED GEUN A W S §

S -
+

2. Write the standard form of the equation of the parabola that has the indicated vertex
and whose graph passes through the given point.
a) Vertex:(-2,5); Point: (0, 9)

F(X)=a<><+ 2)* + K | |
q:O\(O‘fZ)’-—&S Q(X\:l(X*ZY‘\‘FS}

A= Hea+5
H = Ha
o=

b) Vertex: (— —%); x-intercept=-2 -2 (~2,0)

F () =a (X =25)" - 2

> Plugin (-2,0) oza(-z-s?)z, 3/({

3, = 20.28 - =\
7 & PALEN
fOO)= Joa (x-3,Y> - 3, 4 /2%
3. Write the standard form of the quadratic function that passes through the following 3
points. (0,2),(6,2)(-8,4) Oxis 6 £ sy m"\”ﬁh’\j = 6-0 _ R

Yectex = (3 k) Flx )= (x 3)2_55
Q(X\=Cx (X—%\Z—\-

K Q()():C\,LX"?).).Z*'Z‘C?CK
21&(‘33"*‘<f U= o (-3-3)2+2-9a
K=2-9a Y¥=10340 4 = VZe+2Z Go= \/56
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4. What is the maximum area of a rectangle that can be constructed with a perimeter of

64 cm? @
QL L+ 2w = 64
] ) ,w Q=64-2w 5 (=232-W

2
Acea - AL = w(32-w) ';—_(f;e, m—o:x—t(\wmﬁ
A(L)= - w? +32W Are Vs 286 cm?
ALL) = -1 (w2 =324 +256) +256 -

= -1 (W-16)>+ 298¢

UNIT 5: Solving Quadratic Equations (CH. 6) Mex arec occurs whin

w = g

1) Solve the following Quadratic Equations (use the method of your choice)

a. (x+13)2=25
X413 =+ 5

x=%-13 = ~8 (—/_ﬂf
x = -S-\3 =-19 x=-%,"18

b. 2x+3)2—-27=0
(2x +3) =23
2x+«3 = L Azg
2x+3 = 33
2% = -3 _t/?)ﬁ

X

c. (x=7)?=(x+3)2
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d. %xz—x—16=0

2 (x2-8x +__‘5 - 16 =0

D> iQ(-L[)z:Lgl"(‘-l

5 X-4 = x {2

-_é_(x"—%x-\—\(o>—-\(o~2-——o x= Yt |2
- -9

- (x-4)* -1g = o o, a

(x-4)* = 144
e. 3x2424x+16=0

“bxdbtotac | -24 abw-uGye) o -292dse oq.e

200 2.(3) © S
)x:;oﬁz)—'}.i) &— or —> :'-‘Z?’E

f. —1—x2—2x+7=0
4

Olve bﬁﬁ Qd\f&fh\\’lg_: NQO SoLutiony

A no \‘(\{-e((,e(ﬁ

o

“Ax2x12x +3=0
-3 (3 +4xt ) = O

"33 1)(x+\) =0

g 12x—9x* = -3

F-———\/a S =) k
h. 25x2+80x + 61 =0
X= - 80 t A8 Y@ - - 90« NE 0 \onE
2(28) S0

= =R: &3 _-125-1ay

g
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i. 3x+4=2x%2-7
Zx2-3x —\l = O

A Solve d \O\j 3ro~10J;

T)«—A‘%l 3, zj

a. 2x*-3x=4x+12

Zx? - Ix-\2=0

E Y. 36 ) “\\ZQ_.\

2. Brian decides to start training for swimming in a river. The current in the river is
4km/hr. If he swims upstream 2 km and then back downstream to where he started in 3

hours, what is his swimming speed? X= Beroy s ka‘rﬂmif\ﬁ SP—UA‘X
\)J R 1D & .
D\ A = fotel dime = S =™t Sy
& £\ Dun|x 2 |5
L L2 _ A
X +Y -4

4

2(x-4) + 2 (x+ b\\ = 3Lx_q§u* q)

Zx -B+ 2«8 = 3x2-16)
¥ = 4.3 \Cm”\r

IR e e
Brl&l\§ Swimmma ?)\
SP-Q-‘LC\ 6 H.7 \ﬁW\{

Yx = 3xz- Yy
-L‘X~L}%:.O
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3. Natasha leaves school at 3pm and she drives north at 40 km/hr. 2 hours later (at
5pm), Alli leaves and she drives East at 50 km/hr. How long does it take before the
two cars are 300 km apart? E&j
o= X
A 4= 300
ok = SOkm £ tosha = X 42
@s\n) 5
_ ubed ok , 2 : : .
S e ot 300
he . )
@'“\) d_ =0 L)\) LL‘O\( "80} L4 23500x% = C’OOOQ
- \ P . .
.éfooxz+ 6400 x + CUOO + 2S00k - 90000
Unit 6: SYSTEMS OF EQUATIONS (CH. 7) 4160 x* + 6400« -B2600< O

Ax® v+ 4% - 836 = O
X=3.90 S kel Ciay =

1. Solve the system of equations and inequalities by graphing. If doing on calculator, Coshas Lime
sketch an accurate graph. pre——) O
16 Y
y=x2-2x—4 S hee for
a) y=—%x2—4x+4 Cha caxs 4o

A= (-2.55,4.33)

(-2.55,49.32.)
Cl,gq)—q‘s%

e ‘-— e S




&

Math 11 ~ Pre-Calculus Final Exam Review Package

Name:
x2+y<7
b) x = -2
y=0
-I
L |
v ‘
T |
| ? {
HENE |
1 I
HHA e
EERDE RN
v y, w \!./
) {2x+y>2
6x+3y<2 3(_;__@5
3 3
T:\Kv i A
\‘:\.\ i
N
TN MO SOLUTION]
. b BN N
1 <
1 N
N
o \\\4
d) -2x*+3x+420 w= ~B3EANA-9MED L - 3xAdqy
- - \:“‘btgs
2("2} -y o
N N N N T N |
ST 11 1 111
40 -9 8 -7 6 -5 -4 -3 2 -

-0 <L X £ 2.35
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2. Solve the following systems algebraically:

y=—x%—4x+5 S
) {y=—3x+7 —XZ-Ux* O Ix + +

)(2-\-)(—5-2:0

= No SoLuTioN

x= ~1EA -40)@)
20)

b) {(—7x+6y=—4)x2 - 14x + lzﬂ :"82 o te ¥ O{
14x - 12y =8 dx—12g = © selubrons (Soma Ling)

a) The profit for a construction company is P(x) = —0.1x2 4 50x — 5250, where x is the total
number of hours worked by the employees in a week. What total hours worked by the
employees will produce a profit for the company?

coflculato r P()*) >C
—0AX2€SDx—52%0 >0

AN FSWX“%

W-_-_________'_ -
®=1S0 =350

Groa\o h?r\%

i ’\-ﬁ@ (,ong‘(’(u(,\-ic,—n

J CO{Y\PQJ{\_U Mmakea G

P(o*%i& Whin  Tha UVLP—Q,Q\/%

Wak befween \SQ cnd 350
hours,
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b) The height in metres of a ball thrown upward from a building is h(t)=-4.9t*+29.4t+24.3,
where “t” is the time in seconds after releasing the ball. During what time interval will
the ball be above 30 meters? Gm_phu\a caladctor

304-9.96% +2q.4k v 24.3

/f’olo £,=9.%0 Oc¢-49kz+29 ye-5.3 7
e ball will ke aboVe 3C meters
UNIT 7: Absolute Value, Rational and Reciprocal Functions (CH. 4)  between 002 cncl

5.2 seconds

62<{< 5.8

1. Write the absolute value function as a piecewise function:

a) glx)=—-4|x+2|+3

(.x+2)+3 X2z-2
90)= 374

th(x+2)+«3, x <-2

b) f(x)=§|2x—7|+9

1

A (2Zx-F +9 )(22
5= 2. ) ) %

b (2x-F) + Z 3
é(X>‘()X Y/,
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2. Graph the absolute value function. State the vertex, intercepts (x and y), domain and range.

a) h(x) =—§|x—4|+4

Verrex (‘-\, a)
S-InWCe\o? o) 2«\

"'H Domasn X e W

|
I o

5> '(Eb\@cmcbe © Y < Yy
£

3. Solve the following absolute value functions:
a) |x+3]=-3x

@ X‘*’S:“3X @ X\,3=3X
3=-4x 3=2x
- )
X=3 -
-4
\/ X No 7&)&\’(&06003

X -\ntercept (;Ll,o) (\2,0)

v
2.‘?_3:32.23 '3/2+3\ + —5(3/2\ oneg (X = -2 =z
b) |x-3|=|2x+4] §.S £-4.s 7y

cose(® > x-3 = 2 +Y

- =
Check: {0l = |-10) \/Ves
Cm@a —X+3 - 2% +"{
<\ =3
X:é-.l/

cChack #‘%j—.\l_acl\ - yes
Case (3) > X-3 = -2x-4

]3><=—\@
\73(’ -t - \/3

) ix.“"/sls \135‘,
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4. Sketch the following graphs and label both the horizontal and vertical asymptotes. State the
domain of each function.

) f) =%

VoA 5>x=\
H.A => \d =3
SO Ry e CSID R CH I (Y v

(x13) (2= X3 VA= x= -3




@
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5. Given the following graph of y= f(x), sketch the graph of y = % and the graph of y=|f(x}|

a)

\J: \?(X)
@
T\\
NG f
4, E_N——__gz.—:a_ W.g. 3= o
|
¥
VA x = -]
{
|
i
S g 4= O
t
_ N.ALX=-18
= 1864} P appion
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6. Sketch a graph of a rational function that has the following characteristics.

a)

x-intercept -1
y-intercept -2
Vertical Asymptote x=-2.5
Horizontal Asymptote y=-3.5

UNIT 8: Sequences and Series (CH. 8)

. . . 5 1\k-1 .
1. Given the series defined by le¢=2 16 (E) , determine the
common ratio, the number of terms and the sum.

_ 1
ML ) number o ferns = 15-2 11 < 1
Gy = %
V¢
az—lé—\-s\ Sn=oll-r") %“H ) _
k 3) "’V “"/‘Z

‘_’ =
ron 4 Sy = 15,994
o B /2



@
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2. Find the 14" term of the sequence {3,11,19....}

(»N-t: T -
ot (n-1¢ [{\qﬂo%?

Tty =1+ (H—\\ N

Ly = 1412329
3. Three consecutive terms of a geometric sequence are 2.5, y+3

and 9.6. Find the value of y.
gzt by+9 =(9.4) (2.8) - 1.9
Y=g

1l ll

cl
a
N=

Y2 4.6
2.5 Yy+3
. yorlyr =2y -39
3 =(9.6 S
&1 >(‘3*3\ @ \(2 3 3 -\6\3 15 =0 -2 solved b\é cha,P}u/\cj /re_‘)e_c,\— -ve
4. Compute the sum of the first 8 terms in the sequence {1,-3, °l % Bk
Y= -.'._’_3_ :"3 n
‘ Sn=aC\-r> Qm%‘*
h=8 -
= |
F10-ed) Sp= -1640
- (-3) 8

/\r\{ Lomma

a finite or an infinite sum?
\ 43_ —>(\<’ 4(\3 difference
Mmust pe
‘vetueen -\ aneh \

d [r#0])
Gnd cannotr = O

5. How can you tell whether or not an infinite geometric series has

6. Find the 18" term in an arithmetic sequence who’s 2™ term is 11

by = 64(18-05

-and who’s 8" term is 41.
Er=l=a+2Nd — 1i=a+d
o=l =ae (8-0d -~ (W) =a + 3d) e = G+ 1}(S)

c\ S 75 plag i to find
SR
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7. Find the 9" term in a geometric sequence who’s first term is 6

and who's 4" term is -3/4. £ == G L= c,(-,\Y"

n-1\ A

’m\ = Oy ‘ z

Sy = (a(ry(_ —> "&u,:"g/q '“\‘c\: 2

-%: G(r)3 \29

-2 _ 3

{q'r S R R Rt
o) 2,

8. Calculate the sum of the infinite geometric series given by

e G%\L\

(k=2)
SN = @/-L)=-H
> 8-3) (%)
Gp= B 's B(L)- 2
e o= B ()
:_.2.‘_ - —._\—
-y 2.
E;w::,g>/ -4 _ ._|‘Q>
|-y P
New = - 3
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Formulas

—b + Vb2~ 4ac
x = —-)'quad\(cd*\‘c
2a
focmule
__b
*= "%
Verkex Cormu\q
\fe(%'e)( = ()(\kj\)
b =Yy -
y:c—Z& ZO\) (_h

sin4 sinB sinC \
= - sine L
a b c g A

a2 = b?% + c%— 2bccosA % C0Sine \&v\}

Qevtame i SeqUMQ/Se((‘{I

Sp = g(Za + (n—1)d) i Sum o*{ A me b
Seo‘ue.nca_ /sec e
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t, = ar"1 g N kerm o{ %eome\-n‘g
Sefuence )sertes

. a(1--r")?B Sum o geomercic (Faite)
Fate Sequenaw /Senes
« .G % Som o\ Tofaite
. nT o4 _
(Gt ¥ 177 ) Spomerric sequenc [sesies



